MOD

D

=BILT B

VAND




IF POSSIBLE, USE THE HELP REST THE PIECES ON SOFT SURFACES USE THE TOOLS INCLUDED
OF SOMEONE ELSE TO AVOID DAMAGING THE ITEM



CONVENTIONS

Q: Queen size bed
K: King size bed

HARDWARE TOOL

ALLEN KEY = 1X

FLAT WASHER 1/4"

Q=14X &>
HEX NUT 1/4"
HEX HEAD 1/4 X 1 1/2" ALLEN 1/4 X1 1/4" Q=6X
Q=4X Q=20X K=8X
@ K = 8X K = 24X
N 2X
Q=2X
K=

FLAT WASHER 3/8"
2X



1/4" X1 1/4"

N ‘s
FLAT WASHER 3/8" 2 @\
P\V
HEX HEAD 5/16" X 3" ‘

s ™
STEP 1 ;:\E.’{\ ‘ STEP 2

VANDERBILT BED CONTACT US AT SUPPORT@MODLOFT.COM






HEX NUT 1/4"
FLAT WASHER 1/4"

HEX HEAD
1/4" X 1.1/2"

STEP S

VANDERBILT BED CONTACT US AT SUPPORT@MODLOFT.COM



VAN

MODLOFT

SSSSSSSSSSSSSSSSSSSS




